OCR-style exam questions

Questions  4a, b and c require you to use sources.  In these questions, you will need to use your knowledge of the topic to interpret and evaluate the sources.

Start by studying Sources B-D.

The Weimar Republic
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Source B
A poster from 1919 by the German expressionist painter Max Pechstein – ‘Don't Strangle Our New Born Freedom by disorder and brother-murder, or your children will starve’.
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Source C
Scene after the swearing-in of Reich-president Friedrich Ebert on 21 August 1919 at the German national theatre in Weimar.



	Source D
A Christian party of the people: the national community of Germans; the realisation of Christian principles in the state, society, economy, and culture… 

Rejection of violent overthrow… commitment to the German national state … rejection of class struggle… the active support of the economically weak…  

Safeguarding of freedom of conscience, religious freedom, and the freedom of education…

Principles of the German Centre Party, agreed at the Party Congress of 1922.



Answer the questions by typing your answers into the red boxes.

     
4a
Study Source B.  What is the message of this poster?  Use the poster and your knowledge to explain your answer. 
[6]

4b
Study Source C.  Why do you think this photograph was published in Germany in 1919?  Use the source and your knowledge to explain your answer. 
[7]

     
4c
Study Source D.  How far does this source prove that the Weimar Republic was ‘a brave attempt to set up a democratic government’?  Use the source and your knowledge to explain your answer. 
[7]
     
5a
Describe the events, after the defeat of Germany in November 1918, which led to the establishment of the Weimar Republic in February 1919. 
[6]

     
5b
Explain how the Weimar Constitution tried to secure democratic rights for all Germans.
[6]

     
5c
‘The Constitution was a brave attempt to set up a democratic government.’  How far do you agree with this statement?  Explain your answer.
[10]
     
